
ECHNICAL INFORMATION

Current part

Change of Side Handle

HM1303, HM1303B

All countries

HM1303: 065
HM1303B: 067

To increase the durability of Side Handle, the following have been implemented.
1) The thickness of Side Handle has been changed from 3.2 mm (1/8") to 4.5 mm (3/16").
2) Pressing has been eliminated from manufacturing process of Side Handle.   

<Side Handle>

3.2 mm
 (1/8")

Pressed

Pressed

New part NoteQ'ty

1

1

Item No.

B01

I/CQ'ty

1

1

For Models

Country

Description

Note

Implementation

Interchangeability(I/C)

T 64467

Subject

Interchangeability mark ;
 The arrow           means that the new part can be substituted for the current.

Current

New

Flat

Flat

Set Bolt M10x113

Handle Base

Handle Base

See the note below.

Side Handle
344390-4

Side Handle Assembly
134924-9

HM1303: From serial No. 46027E (Aug., 2001)
HM1303B: From serial No. 11402E (Aug., 2001)

Side Handle
345233-3

Side Handle Assembly
134949-3

4.5 mm
(3/16")

Side Handle Assembly consists of Side Handle, Set Bolt M10x113, Handle Base (2 pcs.), Wing Nut M10, Flat Washer 5, 
Hex. Socket Head Bolt M5x16, Split Pin 3.0-20 and Grip 38. See the illustrations above.

Wing Nut M10

Flat Washer 5

Hex. Socket Head
Bolt M5x16

Split Pin 3.0-20 Grip 38


